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1 test_expression_evaluation: BOOLEAN

2 local add, cl, c2: EXPRESSION ; v: VISITOR
3 d

4 create {CONSTANT} cl.mak& _(l) ; create {CONSTANT} c2.make@
5 create {ADDITION} add.make;;(cl, c?

6 create {EVALUATOR} v.make

7 | add.accept (v)

8 check attached {EVALUATOR} v as eval then
9 Result := eval.value = 3
10 end
11 end
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N class 7CONSTANT ‘inherit EXPRESSION

visit_constant (c: CONSTA]| deferred end
visit_addition(a: ADDITIPN) deferred end
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1 |class Point { 1 |class PointCollector {

2 double x; 2 Arr int>

3 double y; 3 ointCollector () ».

4 Point (double x, double y) { 4 void addPoint (Point p) {
5 this.x = x; 5 | Vul[lpoints\ add(p); )

6 this.y = y; 6 Point getPointAt(int 1) {
7 |} 7 return points.get(i); } }
The above Java code compiles. But anything wrong?

1 |@Test

2 |public void testl() { F(‘ _/707/1@
3 +—>PointCollector pc = ne@

4 1 pc)addPoint (new Point (3, 4));

5 Point p = pc.getPointAt(0);

6 assertTrue (p.x == 3 && p.y == 4); }
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. 1 |class PointCollector {
1 |class Point { 2 ArrayList<Point> points;
2 | double x; avod Tats POLnts;
3 PointCollecto
4 Point (double x, double y) { P . Y g
5 this. x — x: 5 void addPoint (Point p
6 this. _ ’ 6 points.add(p); }
7 1) Y =Y 7 Point getPointAt (int 1) {
8 retur@t%get(i); bl
1 | @Test
2 |public void test2() {
3 Point%lector 6] new)PointCollector();
4 Point = null;
w(
5 c.addPoint @';/7‘4 4
6’—% o- Poin ) ;
Z/ assertTrue. 3)8& p.y == 4); }




